Actividades

Resuelve y colocar el signo y el valor de resultado de las siguientes operaciones

Caleula...

Calcula...

+(+11) + (=7) = +8 + (—2) -
+(+11) -8 = +(—5) — (+6) =
—(+3) — (+4) = —(—2) — (—12)=
+(—5) — (—5) = ~A-1)+5 =
+9+(4+2) = +2+(+10) =
—(4+3) — (-10)= 2 (—8) =
+11 — (—6) = 40410 o
+(—8) — (+10) = +(+2) — (+12) =
-11—(43) = +3-(-3) =
+(+11) -9 = M=y =
Calcula... Calcula...
—(4+3)—(-9) = —~T — 11 =
+4—-(+7) = —(+8) +(—-10) =
—9—(+5) = —10—(—9) =
—(—-11)+4 = —(=2)—-(-7) =
7+8 = +(+7)+ (+8) =
=543 = —(+4)+(+3) =
+(+9) — (+7) = —7+(-5) =
+(—6) — (—8) = ~1l=—=gl) =
‘8 = —(—9)+(—3) =
—9+4+3 - +4 — (=T7) —




